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% INPUTS

% total number of desired scenario proposals
desiredNumber = 10"6;

% probability cut-off
crit = log(10"-6);

% begin explosion(s)
input = [13];

% over-pressure value
P = 200;
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% grid definition
nXx =5;
ny =5;

% INSERT PROBABILITY MAP
totalProbMap4 = probabilityMapUCL

% DO DOUBLE SORT ON PROBABILITY MAP

% total number of objects
N =nX*nY,

% sort within the rows

damageState = zeros(N, 4);

probability = zeros(N, 4);

for i=1:N
[sortProb, index] = sort(totalProbMap4(i,:),
probability(i,:) = sortProb;
damageState(i,:) = index;

end

% sort over the rows using the third column
[sortedProb, index] = sortrows(probability,-3);
sortedState = damageState(index,:);

% indexRevert reverts second sort
% probability - sortedProb(indexRevert, :)
[~, indexRevert] = sort(index);

% SET-UP PROPOSAL AND STORAGE LISTS

% logarithm matrix of double sorted probabilities
logSortedProb = log(sortedProb);

% INITIALIZE PROPOSAL LIST

% 1. probability

firstProb = logSortedProb(:,1);

% 2. ordered state vector

firstState = sortedState(:,1);
orderedState = firstState(indexRevert);

% proposal probabilities; pre-allocate memory for b
proposalProb = zeros(desiredNumber, 1);
proposalProb(1) = exp(sum(firstProb));

% proposal state vectors; pre-allocate memory for b
proposalState = zeros(desiredNumber, N);
proposalState(1,:) = orderedState;

% INITIALIZE STORAGE LIST

'‘descend’ );

etter performance

etter performance
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% 1. updated probability

logProb = sum(firstProb) - logSortedProb(1,1) + log
% 2. switch vector

switchVector = zeros(N,1);

switchVector(1) = 1;

% 3. active switch

activeSwitch = 1;

% 4. updated state vector

stateVector = firstState;

stateVector(1) = sortedState(1,2);

% storage; pre-allocate memory for better performan
% probabilities

storageProb = zeros(desiredNumber, 1);
storageProb(1) = exp(logProb);

% switch vector

storageSwitchVector = zeros(desiredNumber, N);
storageSwitchVector(1,:) = switchVector;

% active switch

storageActiveSwitch = zeros(desiredNumber, 1);
storageActiveSwitch(1) = activeSwitch;

% state vector

storageStateVector = zeros(desiredNumber, N);
storageStateVector(1,:) = stateVector;

% CORE OF ALGORITHM

sumProb = exp(sum(firstProb));
count = 2;

oldPointer = [;
pointer = 2;

flag = 1;
while flag ==

% Choose optimal proposal from storage list
[prob, index] = max(storageProb);
switchVectorWork = storageSwitchVector(index,:)
activeSwitchWork = storageActiveSwitch(index);
stateVectorWork = storageStateVector(index,:);

% update proposals list
proposalProb(count) = prob;
orderedState = stateVectorWork(indexRevert);
proposalState(count,:) = orderedState;

% update probability coverage measure
sumProb = sumProb + prob;

SortedProb(1,2);

ce
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if mod(count,1000) ==
count

sumProb

end

% break out of while-loop at the next iteration if
if count == desiredNumber

flag = 0;

end

% update counter
count = count + 1;

% 'delete' optimal proposal from storage list
storageProb(index) = 0;

% set-up overwrite in storage list of the optimal p
oldPointer = [oldPointer; index];

activeSwitch = activeSwitchWork;
switchVector = switchVectorWork;

g = activeSwitch;
m = switchVector(q);

% switches go from 0 to M-1
if m<3

% additional working material
stateVector = stateVectorWork;

% update prob
logProb = log(prob);
logProb = logProb - logSortedProb(q,m+1) +

% update switch vector
switchVector(q) = switchVector(q) + 1;

% update state vector
stateVector(q) = sortedState(q,m+2);

if ~isempty(oldPointer)
index2 = oldPointer(1);
drop = ones(length(oldPointer),1);
drop(1) = 0;
drop = logical(drop);
oldPointer = oldPointer(drop);

necessary

roposal

logSortedProb(q,m+2);

L)
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else
index2 = pointer;
pointer = pointer + 1;
end

% fill storage matrices

% probability
storageProb(index2) = exp(logProb);
% switch vector
storageSwitchVector(index2,:) = switchVecto
% active switch
storageActiveSwitch(index2) = activeSwitch;
% state vector
storageStateVector(index2,:) = stateVector;

end

% restore switchVector

switchVector = switchVectorWork;

if (m==1)&& (q < N) && (switchVector(q + 1) == 0)

% additional working material
stateVector = stateVectorWork;

% update prob
logProb = log(prob);
logProb = logProb - logSortedProb(q,2) + lo
logProb = logProb - logSortedProb(q+1,1) +

% update switch vector
switchVector(q) = 0;
switchVector(g+1) = 1;

% update active switch
activeSwitch = q + 1;

% update state vector
stateVector(q) = sortedState(q,1);
stateVector(q+1) = sortedState(q+1,2);

if ~isempty(oldPointer)
index2 = oldPointer(1);
drop = ones(length(oldPointer),1);
drop(1) = 0;
drop = logical(drop);
oldPointer = oldPointer(drop);
else
index2 = pointer;
pointer = pointer + 1;

gSortedProb(q,1);
logSortedProb(g+1,2);

L(
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end
% fill storage matrices

% probability
storageProb(index2) = exp(logProb);
% switch vector
storageSwitchVector(index2,:) = switchVecto r;
% active switch
storageActiveSwitch(index2) = activeSwitch;
% state vector
storageStateVector(index2,:) = stateVector;

end

% restore switchVector
switchVector = switchVectorWork;

if switchVector(1) ==

% additional working material
stateVector = stateVectorWork;

% update prob
logProb = log(prob);
logProb = logProb - logSortedProb(1,1) + lo gSortedProb(1,2);

% update switch vector
switchVector(1) = 1;

% update active switch
activeSwitch = 1;

% update state vector
stateVector(1) = sortedState(1,2);

if ~isempty(oldPointer)
index2 = oldPointer(1);
drop = ones(length(oldPointer),1);
drop(1) = 0;
drop = logical(drop);
oldPointer = oldPointer(drop);
else
index2 = pointer;
pointer = pointer + 1;
end

% fill storage matrices
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% probability
storageProb(index2) = exp(logProb);
% switch vector
storageSwitchVector(index2,:) = switchVecto r;
% active switch
storageActiveSwitch(index2) = activeSwitch;
% state vector
storageStateVector(index2,:) = stateVector;

end
end
2+>2 12 3
M 1 ! 3 4 3
! I S10° 3 6 !
1 1 N=3 ! M=3 " /
11 3 /
90 9 1
100 100 100
probMatrix = 9900 99 L #($
10000 10000 10000
999000 999 1
1000000 1000000 1000000
H ! ! 1101 |
11" 4
012
stateMatx= 0 1 2 #&$
012
G. [0 o o]" 4 3#(S  #&S$
pl) — 90 . 9900. 999000 _ 890109 10°
10C 1000C 2100000! 1C*
1 4

L5




-%/&

123 4

6
4 s —890183 19 o o o]
H ! 3 H !
o o O](l)® Lo O](z) 890109 10°
— ! 1012
#HS #&S$
o) = 9 . 9900, 999000 _ 890109 10°
10C 1000( 100000( 10%
1 3! 1! 1! /] 1
S 89018192' 105,[1_ 0 O](Z)
3 3 M6 1 3
4
6
4 s 8901(();5 10 o o oY 890181921 105’[1 0 o]
3 1!
s {}
Mot 33 112
98901 10°
[2 0 o, =2
B 10°
Lo O](z)®[0 1 O](4) 890109 10'
B ’ 107
[(l,:_].) 0 0](reject), n.a.
1 2 0¥ fo1 ¥ 1




-%/&

123 4

98901 10°

o - Y (3) M
) 102 [2 0 0, 109
1 4 . 1
2010910 1y o
4 s %'h 0 o]
s B9 gy g
M 6
[§ 0 0](reject)
2o d9 [o 1 g
[(2,1-) 0 O](reject)
3 M 6
S UHEET
1 4 . 1

[2 o o
43

43

LF




-%/& 123 4

¢
890183 10 ’[0 0 O](l)
890183 105,[1 0 O](z)
4 S ¢
989100{21 o gv
890183 10" 0 1 g
s {}
M M 6 o 1 o 11 » 33
) 89971 10°
o 2 o, 10° ’
(4) e 890109 1
o1 o“®[0o o 1]®, —101203
77 890109 1
i1 g, 8010910
1 3 M 6
89?_32104, [O 2 0](5)
890109 103

890109 10° [l- 1 O]

HM 6 1 P

oo 1 [1 1 0o7/Mm ai 3 T

4 4 1 43 4

L%




-%/&

123 4

890183 10° | [O 0 O](l)
890181‘52] 10° | [1 0 O](z)
989100_'52105’ [2 0 O](a)
89018192 10 o 1 o]
890109 10° [O 0 ]]
8951);2104’ o 2 0](5)

890109 10° [Z_L 1 O]

oo 1?11 " 33

[0 0 _] 891 103

oo 192 [0 0 0 2"  na.

890109 107
[1 0 1](9)' i

89971 10
10

890109 10°
89010910° [y 1 off

891 10°
1012 [0 0 —]

890109 107 [1 0 1]

L>




-%/&

123 4

HM 6
1
4
S
HM

1

89971 10°

891 10°
10
890109 10°

10' '

[2 1 g,

890109 10°
10

890109 10°
10"

989071 10°
10

890109 10°
10"

o o o]®,
L o 0]®,
. [2 0 @,

Jo 1 0]¥,

890109 10° o o 19

10%

890109 10°

()
10910 1 g

(5)
T o 2 d¥,

. fo o 29,

Lo ¥

1 1 o 11

98901 10°

2

11 d7e o (11 o=  na.

3

M

[(12) 1 o, n.a.

6

43

33

[1 1 07 /m

LL




-%/& 123 4

8991 10'
10%

o 2 ¥,

89;.'011.03, [O 0 2](8)'
890181952 102, Lo 19,

9891001:2103, [2 1 O](10)

HM 6 1 ! [2 1 of*/m

890109 10°
10%

890109 10°
10
98901 10°
10
890109 10*
10

890109 10° (6)

——, 0 0 ,
1012 [ ]]

890109 10°
10

98901 10°
10%

o o o],
Lo o]®,
2 0 9,

o 1 0]®,

0 [

2 1 ™

1 43 / M M 6
2 1 011 » 33

[§ 1 0](reject)
[2 1 O](lO) ® [O (1'1_) O](reject)
[( 2, :_I.) 1 O] reject

1 3 M 6




-%/&

123 4

e [0 2 q*
s B g g
890183 102’ [1 0 ]](g)
HM 6 1
1 4 4
4 S
890183 106,[0 0 o]
890183 105,[1 0 0]?
989100{2105, [2 0 0](3) ,
890183 10“'[0 1 0],
890182 103' [0 0 1](6) ,
890181523 10 b1 o
989100:1:2103' [2 1 0](10) '
892@2104' [O 5 0](5)
4 3 /M
o 2 o 11 33 "
[0 3 o], n.a.
[0 2 d9® [0 o gt n.a.

1012




-%/&

123 4

891 10°
012

890109 10°
89010910 1 o 4

8991 10°
10

. o o 2®

2 @

890109 10°
10

890109 10°
10

98901 10°
10

890109 10
10

890109 10° oo 19,

o o o]¥,
L o 0]@,
.2 0 g9,

o 1 0]®,

890109 10°
10

98901 1C°
10
89971 10°
10

890109 10°
e

C o1 g™
2 1 @,

.o 2 d®

M 6 1 o 1911 v 33

[2 : ]] | 890%[%129 10
13
b o drel 3 g BOEE

[(11) o g  na.

Lo ¥

I'M




-%/&

123 4

HM 6

M

1

6

891 103 oo ¢

%, L2 g,

989;)0{2102 2 o 4

890183 10" o 1 9%

4

890183 10‘5'[0 0 o]t
890181{;) 10*",[1 0 o]?
98910(;2105' 2 o d°
890183 104,[0 1 o
890182 10° oo 49
890183 103, L1 g?
9891052103’ 21 o
%, [0 2 o
890182 10? Lo 4

98901 107
1012 [2 O ]] 12

[2 0 1"%/m




-%/& 123 4

1 43 /' M M 6
[2 0 1 11 » 33

[§ 0 1](reject)
[Z 0 ]](12)® [O 1 ]](reject)
[( 2 1) 0 ]] (reject)

3 M 6

891 103’ [O 0 Z](B),

107
S 89?3’12103, L2 O](ll) ,
890182 10" o 1 4¢
HM 6 1 ! [1 2 of*/m




-%/& 123 4

89018192 106,[0 0 o]
890182 1051[1 0 o]
989100?2105’ 2 o d°
890182 104,[0 1 oY
890182 10° oo 49
890183 10 L1 g”
9891052103’ 21w
892;’12104, o 2 d°
. 8901812 107 hoo e

98901 10° [2 0 1]12 '

8991 10°

11
e L2 d

1 43 /' M M 6
1 2 o 11 " 33

999 10°
2 2 q“, -

1 2 d¥efo (21) o na
(1) 2 o  na.

3 M 6




-%/& 123 4

891 10°
10
890109 10 (13)
S — 10 1 ,
1012 [ = ]]
999" 10°
10

.o o 29,

2 2 g*

HM 6 1 ! [0 1 1™

890109 10°
10"

890109 10°
10

98901 10°
10"

890109 10*
10°

890109 10° oo 19

o o o]*
L o o]®
,[2 0 d®

Jo 1 o]®

890109 10° (7)
8010910 1y 4 4
98901 10° (10)
T [2 1 o,
899;304 ’ [O > O](s)
890109 10°
T [1 0 1]
4 S 98901 107 [2 0 1]12
89971 10° (12)
102 [1 2 O] J

890109 10
ST el R




-%/& 123 4

1 43 I'M HM 6
o1 4 11 » 33

[O 2 1](15) 8991 10
= 1 012
o1 %@ o (11",  na
890109
[1_ 1 ]](16), W

B0 o o 40

999 103, [2 5 O](14) '

2
s 10
BT o 2 4%,
890109
1012 ' [1' 1 ]](16)
10° 11 141 # 4%
6 6 /
1 # 4% 36 31 s 10° "
1 4 "]
| 4 /
M 1 3 6 ! 1 I /

[O 0 g)](reject)

0o 49® [0 0 o gt
1 o 2"
[§ 2 O](reject)

[Z 2 O](l4)® [0 (2’1) 0](reject)

[(2’1) 2 0](reject)

[0 § 1](reject)
[O Z 1](15)® [O 0 (:L:_L)](reject)

[1_ 2 ]](18)




-%/&

123 4

—
=

[2 1 1
1 1[0 (11) g0
[(lZ_L) 1 ]](fejECt)

[2 2](20)
0 2](17)® [_0 2](21)
[(1-1-) 0 2](feject)

= O

2 2 1®
2 1](18)® [O (2’1_) ]-](reje(;t)
(1Y) 2 ]_](reJeCt)

reject)

—
w
=

=

(reject)

|
=L

(reject)

[§ 0 2](reject)
0 4®@ [o 1 2t
[( 2, :_I-) 0 2] (reject)

[0 2 2](23)
1 2](21)® [O 0 (2’1_)](feject)
[1 1 2](24)

[§ 2 1](reject)

2 1](22)® [O (2’_) ]_](feject)
[(2,1-) 2 ]_](reject)

[O 3 2](reject)
Z 2](23) ® [0 0 (2’1)](reje(;t)
L2 2™

2 1 2](26)
1 2](24) ® [0 (111) 2](f6ject)
[(]-::_I-) 1 2](feject)




-%/& N

2 2 2]*
[1- 2 2](25) ® [O (2’1_) 2](reje(;t)
[(1:1-) 2 2](feject)

[§ 1 2](reject)
21 ®e0 (1) 2=
[( 211—) 1 2] (reject)

[§ 2 2](reject)
[2 2 2](27) ® [0 (2,1_) 2](I’eject)
[( 2, :_|-) 2 2] (reject)

! 3 MN:33=27 /




-%/& 123 4

2 #)A? )5 2#5/

- 3 3 3 1 3
12/ 31 3 ! I T R o1
21 13 4 4 Lo 3
43 " H !
4 4 | #&)(%S$/ H 12" -
! = 12" I/ "
- 321" | 11 3
H #1/M" /&) $ ! | 3- 31 3 !
3 H I 3 P /
3 33 " 1 1 1 | 8I(# -
G : ! I &)&S - N 3
41 2 "3 (12 % 41 3 ()
(F /
312411 1 3- ;" 3 123 ! 3
3 21 "R 3 c" 7 1R 43
1R 4 43 ! # - G 11 !
8))&S$/ 33 14 1- ! 3 123
Lo 3 | H/
3 -
b 13 4H 3 4 3 1
b - 31 4 /
b ! 1 1 1 14 1 123 1
331/
b ! 4 2 3
1 /
b 1 "6 2"# 1 3 $ 1
1
b 11 3 !1 ! H/
b <" ono | #3 ! $/
b Lo
b 2 3 I H 4/
b G4 33! Lo
b 14 " # 1 43 3 %
b 4 31 4 3 | /
b M " 11
b 3 "3




%8 123 4
1 M" #&))S$ ™ 31 ! !
b 1" H
b < " H #1 3! 3 I $
b 3F & H
b G 3 3 3 3 12/
b ! # 45 "%/
#8))(S " H I 133 !
! 4 I 3 'R !
IR 17 4 4
/n #- N /(>FRG 4 /| ("L$
1 ! '3 1 3 1/ 3
H 11! 14 1 b/ 3 !
! 33 ! I 14 48 | 233 (>FR8C G (L&R 1 &))5%/
4 33 3 3 /!
3 3 ! " 1 3 123
I /1 M" #& (S 3
Lo H 4 13424 3
I 31 /<1 3 Lo
3 "/

Q)




-%/&

123 4

3! 6 -
1
m G
" 5 4 G I
4
1
I 4 I 4
# 18 ! I $ ! "
!
# |
! 6 |
b b G b !
b 7 b b 0"
b b !
! 4 6"
!
33! 313 b I 133 3
3 3 b = 4 "I 33!
31 4 b = 3
I3

O




